hy Was the Pail Pale?

Solve each equation or problem and find your answer at the bottom of the
page. Write the letter of the exercise in the box containing its solution.

y—4dy+ 3 =-30 ) 6L+ 2 + 3t + 17 = 10

I

32

-Bu 4+ 4 + 8u =43

6—-2n~-5+8n=65

= —-150

1 3 -
gd—-—4+gd—-4=5

70 —g—gq - 2g = 80

& The sum of the measures
of the three angles of a

he sum of the measures
of two complimentary

of the four angles of a

angles is 90°. Find the triangle is 180°. Find the quadrilateral is 360°.. Find
measure of the angle measure of the angle the measure of the angle
labeled x. labeled x. labeled x.
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